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CYP-VI 

CERTIFICATE / DIPLOMA 
(7,1 
	PROGRAMME IN YOUTH AND 

rTh, 	 DEVELOPMENT WORK 

Term-End Examination 

December, 2013 

Module-11 : Promoting Enterprise and 
CYP-VI : 	 Economic Development 

Module-12 : Youth and Health 
Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt any five questions. Choosing two from each 
section A and B. Fifth question could be from any section. 
All questions carry equal marks. 

SECTION-A 

1. What is a small enterprise ? Small enterprises 20 
bring benefits to the economic development of a 
country - justify this statement. 

2. (a) What is the significance of creativity in an 
enterprise ? 	 10+10=20 

(b) What do you understand by the 'trickle-
down theory' ? 

3. Develop with the help of a suitable example, a 20 
step-by-step guide to establishing a small 
business ? 
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4. (a) How can training programmes promote 
establishment of small business ? 	10+10=20 

(b) What is the difference between operational 
cost and capital cost ? Discuss with 
relevance to both micro and macro 
enterprises. 

SECTION-B 
5. (a) What is the role of health education in 

health promotion ? 	 5+15=20 
(b) Elaborate upon the components of health 

services as described by the Common Wealth 
Youth Programme (Youth Health : Analysis 
and Action). 

6. What is a healthy diet pyramid ? Elaborate upon 20 
the dietary guidelines suitable for your 
community. 

7. How does HIV-AIDS get transmitted ? How can 20 
youth be involved in the prevention and 
management of this disease ? 

8. What is drug abuse ? Enlist the common drugs 20 
abused by youth and describe any one in detail. 
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